TSLPRB: Police Constables Final Written Exam-2022 Question Paper with Key

Answers are circled in Red Colour Held on 30-04-2023

1. Fill in the blank with correct preposition in the following sentence.

He gaped some developed countries in wonder for their vast materialistic progress.
(1) At (2) Away @) on @) Over

2. Fillin the blank with correct preposition in the following sentence.
Steve Jobs said, “Innovation distinguishes

a leader and a follower.”

() Between ()  From (3) On (4) About
3. Identify the correct passive form of the verb from the options given below to fill in the blank in the foll
sentence,
A nation (hold) together by shared beliefs and shared attitudes.
(1) Ishewd (2) Were held (3) . havebeenheld (4) to be hold
4. Fill in the blank with an appropriate form of the verb given in brackets to make it a meaningful sentence.
Unless you (read) today, you cannot be a perfect person tomorrow.
@ Are reading (2) Read (3) Had read (4) Have read
5. Identify the word with correct spelling from the options given below.
MANOEUVRE (2) PRONOUNCIATION
(3) CONSCIENSCIOUS (4) CHANGABLE
6. Identify the correct antonym of the underlined word in the following sentence.
He was fishing for a squid with pals in shallow water.
(1)  Shoal (2)  Superficial @ Deep 4)  Skin-deep
T

Fill in the blank with an appropriate verb that agrees with the subject in the following sentence,

: L] a al ns:

@ Is ; (2) Are (3) Has (4)

Does

8. Fill in the blank with an appropriate article in the following sentence.,
Past glory and education don’t count for much. We have to continuousl|

y sharpen
An (2) The (3) A

axe.
(4) Noarticle js required

9.  Fillin the blank with an appropriate form of the verb given in brackets to make it a i
(pull) out my calculator before I added up all th m—

I E:mnne}r.
@ Had pulled (2)  Have pulled (3)  Pulled

gful Sentence,

(4) Had been py)jeq
10.  Which of the following sentences is incorrect with re

ference ¢
(1) The waiter asked if we wanted a table near the windnwn feported speech?
The teacher asked the students how they wanted to i -
(3)  Shamir enquired where was the bus station. ACtivity,

(4)  The guard warmned us Not to enter the areg
--'---____
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11, Fill in the blank with an appropriate form of the verd glvfj'n In brackets to make it 3 meaningful sentence.
She (hand) me a picture of sloppily drawn birthday cake last year, T

(1) Have handed (7) Had handed  (3) Handing Hinded

hich means ‘accurate information”?
(2)  Closed chapter
(4)  Caught in the crossfire

12, Identify the correct idiom W
Chapter and verse
- (3) Dead and buried

3. What s the meaning of the idiom "turm the clock back’?
@D Torestore something to former condition
(2) Towaste time
(3)  Totum off the alarm clock
(4)  Todo things with a jet speed in future

14, Fill in the blank with an appropriate pronoun that agrees with the subject in the following sentence.

The biggest achievement of Digital India has been
inclusion for all in India,

@ Is Q) Are (3) Has (4) Does

tremendous success in ensuring digital

15. Identify the grammatically incorrect sentence in passive voice from the options given below.
(1) These windows in my room really need to be cleaned soon.
@ The President is hoping to be elected for a second term.
(3)  Sheela and Swathi might have been invited to the party.
(4)  Raveendra has asked to make a presentation at the meeting by his team leader.

16.  Identify the correct form of the following sentence to be converted to direct speech.
“They told us that they would start the admission process the following day.”
(1), “Wewill start the admission process tomorrow,” they told us.

@ We told them, “They will start the admission process tomorrow.”
(3) “We would start the admission process the next day,” they told us.

(4)  We told them, “We had to start the admission process tomorrow.”

7. Fillin the blank with correct preposition in the follow

Great in beli . ing sentence.

@ ,;Eam lieve that logic and imagination shake hands each other.
1 .
| (2) To 8 of i D

18,  Identify the correct s
ynonym of the underlined word ; ‘
Tustrious people seem to | G yuncae

ght up everything aroung them.’

@ Eminent
) (2)  Obscure (3) Notorious (4) Obsessed
19, Which of the followin
g words has an inc ‘
(I)  ACCOMMODATE “”E‘E;;Pﬂi;ﬂg?
ACUUM

(3) EMBARRASS
JUDGEMENT
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Fill in the blank with an appropriate article in the following sentence.

20. . oag
s pegplé Without conviction do not take stand.
A ) An
(3) Noarticle is required (4) The

Read the passage given below and answer the questions (from 21 to 25) that follow :

The beginning of this fun-filled season with the sun hidden behind the grey clouds brings cheer to many of us waiting
cagerly to splash in the rains. Ofcourse not everything about rain is glamorous. Especially when you think about
endless traffic jams, the bad roads dotted with potholes, uncleared garbage and the spate of water borne diseases.
Also viral infections like cold and cough make their presence felt.

Most infectious diseases prevalent in the rainy season can be prevented by simply washing our hands regularly.
Scrubbing hands regularly with water and soap can prevent us from contacting respiratory and diarrheal diseases.
Kids have a lower level of immunity and hence hand washing becomes a crucial part of their lifestyle. When playing
especially during monsoon season kids come into contact with germs and can unknowingly become infected simply
by touching their nose, eyes or mouth. The Food and Drug Administration states that the human influenza virus can
survive on surfaces for up to eight hours, making people susceptible to catching it each time they touch the infected
surface, Hence repeated hand washing is required.
To make the best of the rainy season we should follow some simple guidelines. First of all if we decide to get wet in
rains we should change into a dry set of clothes at the earliest. Also we should keep raw food items at bay and wash
vegetables and fruits thoroughly before use. Moreover, strict kitchen hygiene should be maintained in order to enjoy

one of the most beautiful seasons of the year. Also, in order to have a trouble free rainy season home made fresh food
should be given preference over the fast food sold in the market.

21.  The passage suggests that small children should wash their hands

in the rainy season since they
have lower immunity.

@ trequently (2) rarely (3) aftereverymeal (4) before every meal

2. Besides maintaining kitchen hygiene we should s0 as to keep us disease free in the rainy season.
@ avoid raw fruits

(2) enjoy raw fruits
(4) consume more fruits and vegetables

(3) avoid vegelables

23.  After getting wet in rains we should

(1) aslate as possible
as early as possible

put on dry clothes
(2) whenever we like to
(4)  when we fall sick

24.  The word i the passage Which meang

(1) dotteg the same as ‘prone and vulnerable’ is -
@ hygiene @ susceptible (4) influenza
25. People wait ,
Or the raj
splash e they can init,
3) s

Pate of water bome disease (2)  have potholed roads
s .
K-21 532-P1157 (4)  endless traffic jams mll
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- ::; i: ']Dh e SO0 persons, A sold an antique to B, Bsolditto Cand C to D. The price of antique rised on
e whole by 80% when it is bought by D. A earned 25% profit and B earned 20% profit then thg profit earned
I fy I B |

by Cis:
A, B, C D Jenthith SgHen. 2.8 Hovsdieho B HA, C HB Sda D £ € DFonomr. D 3635835

Sooefo eS & HT=SKS) B, (56 80% DOA0B. 25% erary A 0050 20% ergrRY B APommed. e00S

C 8rofdd erzio : .
(1) 15% @ 20% (3) 30% _ (4) 35%

27, W a:b=3:4, b:c=4:5a+2b=55and 3b—c=35then 3a+2b-c=
2,83 a:b=3:4, b:c=4;5,g+2.5=55;’13ﬂ::53.1 I —=3500083a +2b—c =

@ 60 @ 45 (3) 50 @) 75

28. E men can do a piece of work in 12 days, 9 women can do the same work in 16 days and 12 children can do it
in 24 days. 6 men, 12 women and 18 children started that work and worked together for 3 days. If only women

have to complete the remaining work on 4™ day, the number of women required is :
8 S308 HHthden 2.8 HAD 12 F2reds® Hrd Sobhiied, 2983 HAN 9 B Qﬂu 16 SFererds® Sabhiiet. eod

HAD12 ol Heen 24 Sereres® 58 SaHife. 6 S0 Hhpey, 12 Hod ’gm So8a50 18 H00d Hyen
&3 HA rdoddod), oot LD 3 8ren H . WHDS HBA 455 B €500 &m ;‘J:vg;i:. 58

BaHBed 5D, 05688y Yo Sowg:
() 9 @ 54 3) 4 4) 24

29, The distance between
20 kmph than it’s usual speed due to road traffi

by 2 hours. Then the usual duration of the total journey is (in hours)
Bocky HBwren A 805 B © Sogsg (Sto 480 2 5y o, 208 5960 A 006 200enB808; 50 5 &8 59
o8 S5 oo ArEesEs Stfo Lo totatH 20 8.80.0 FS SHod $o80k B g b0 B D B8 SSoaho

orien iS00S LodS 2 otsen 2BAD. wond Y HoSrErd HE Fpries oV $356(tfotowre") :
|
@ 6 @) 5-;- (3) 8 @ 7

d 1365 is H and LCM of 252, 504, 108 is L then —}? =
@B, 15.3°.55 Sodas» L w36 252, 504, 108 © Bgy . (O

two stations A and B is 480 km. A car started from A. But its speed is reduced by
¢ and the usual time of reaching the destination B is increased

30. If the HCF of 546, 1155, 462 an
H 38 546, 1155, 462 50805 1365 ©

E:cmﬁ—:.
@ 72 (4) 360

(2) 180
th

(1) 144

ains 3 min in the same duration. If bo

watch g .
what time duration (in days) they both

ration and another
24 hours du >

3L A watch loses 5 min in everY 5 , t a particular point of time,
i 7

| time ‘t” again in near future sy atood 0 S wd $3566° HEE rfr.’édiwﬁﬂf
& 0 5 AaTE 56 2,8 HSoao ¢ D SRR, DD

58 24 Hotse> 5B

3 DRpapen orE DEIED. 5° (8%
tygeis6s® e B0l KEGSFooeD o HBoD %ﬁﬂg IEE; (4) 240
- 20
W % @ ! o L
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33,

35,

K‘11531.'p11 T (2) 8,000

:mple interest on a certain sum for 3 years at 6% per annum is Rs.22,500 and on the same sum for 4 years
The sin

© g perannum simple interest is Rs,40,000. Then the simple interest on the same sum for R years at 7% per
a

annum i (in Rupees)

€ D00 SR e 6% SRS 3 Dodehyored NG 22,500 Erarahen HBaky &8 AR

b R% SYS 4 BoSEH0 0 et 40,000 EraroHen. eondd e A POT° 7% FHYS R
Gosdyoros ertd(Srarahed) ;

(1) 45000 (2) 50,000 @ 70,000 @) 80,000

It is given that, if two pipes of radii » and r, can fill an empty tank in #; minutes and t7 minutes respectively
and the speed of the flow is same in both the pipes then r]rﬁ = ;2@1+Thﬂm are three taps of diameters 1 cm,

1 :
15 cm, and 2 cm respectively. The speed of the water flow through them is same. The widest tap can fill an

empty tank in 45 minutes. If all the taps are opened simultaneously. then i
¥, then In how many h t
will be filled? Y hours the empty tank

iy 1y SGIGRT (0 Bot®d FHen 2.8 a9 G SHBr Y DDodren 2HBaH) ty DDA DoHEDA
&od, D8 Haegr tfo Both MEroSTEr 2,800 eo6 BN Hh1°

= tgrf Q) RBIIDEHE, SEHB 1 20.20.,
111 R30.80. $:8080 2 o

.0 g the) Barees Hemanes BTQON. &8 Mods Se) AE Hardro Bw),

tfo 28 Do G008, ToBS® A0t Lodl SEONE Hovaw 28 57d S 45 DDoaperss® JoHiferss
) DR 2,53°0 BOD &0DS, A obrwrss® & grd &8 Dotsrebroy? |
m 2 =2 '

29 2) o @ 25 (4) 19%.

A train ¢ : "
4n ¢ross a platform in 18 sec with its usual speed. It can cross the same platform in 15 sec if its usual

speed is i
ncreased by 15 kmph. If the length of the platform is 1- times that of the train, then the usual speed
(in kmph) of the train s - .

&8 Jen Aeor
9 ® S 28 B 18 BYoES® Treio. T e SR totsth 15 &, &

SRS Doded

o DS T ESs%s as 220 15 2Eoes” restiencss. & réSaeSs Bug), PGS Boo AEHS e
Qs 3

I\ S 220 Gy, Avgzeises E;r‘;u (Hotath 8.50.00655) ;

\ (3) 85 4), 100
Cﬂ.n dﬂ a wﬂl’k i

. n 6 days

finish thay work in 3 daysylfatnhi B can do the same work in 9 days. A and B along with a third person C ¢&
Aug520 6 '

total w . - .
S areres? 3ot ages for the work is Rs. 24,000 then the wages of C is (in Rupees):
tf
“FSOb 0 50y 3 a0y O B0 B 68 £ 9 Sererds® Babiiom. A 55005 B o S 55

f‘swﬂmﬁs&ﬂﬁﬁ T TOS ) Bafries, e 508 esly 3o Sweo 24,000 GrirosgE ¢ B
11-%[! '

@- 4,000 4) 6,000
6-B
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36.

37,

38.

39,

K-21532-P11-ET

A rectangular track of 5 meters width is made round a circular field such that each of the inner
side of the track touches the field at a point. If the area of the field is 61,600 square meters and
the cost of forming the track is Rs. 100 per square meter, then the amount (in Rupees) required

for forming the track is
28 S)SELD oo cHexe 2.8 B BB SED arers Td SHO ghesdn PO Jordy w8 Doth

56 erdeen 5 Doy Scend’, 28 2red DJoarth. Poo Bng), Jerege 61,600 .o Do ok,
P60y DBPSERS S Qe 100 Srarchen Y wond, et ASERE sHoNd Swugo
(GraraHed?) '

1) 4,35,000 (2)  7.56,000 5,70,000 " (4 675,000
D @ s
The day of the week on 5t September 1887 was

(1)  Sunday (21— Monday (3) Tuesday (4) Saturday
1887 22026 55 808 O BFHehols & 8% :

(1) ed8o @ oo 3)  Sooti¥ardo @) #daebo

th
_ '} =
0.7 is multiplied by itself and that result is divided by [;] part of the reciprocal of 0.8. If the value thus

obtained is X, then 931!; =

07 5 o Se53 oeosoe QS T, 08 Bng), Kge0S* ‘E & zotfods aromd. & Do

S50y Do xeond Wx = |
(1) 0.5 2 14 3) 0.6 16

' 1 .
By selling an article with a discount of 25% on its marked price, a trader gets a profit of 12 5 %. If the discount

is 30% on its marked price then the gain percent on its cost price is :
v 1 .
2.8 S0 o HEedes (6D 25% ﬁgumﬁ‘ AN a8 g8 115 %. egfo HX0ob). e HEEdeS 56D

1
@ 1% @ 5% 5%

() 10%

A f money invested at interest, compounded annually, amounts to Rs. 7680 in 2 years and Rs. 8192in 3
sum of m

ney (in Rs.) invested is :
s i b s s L 2 Aot 760 i S 00
ﬂu !

E’an.ﬁﬁaﬂ'ue’i’s 8192 drarode

6,750 4) 2,250
(1) 3,500 (2) 5,800 @
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41.

42.

43,

45.

A Shopkeeper spent 20% of his profit in a particular month towards wages of his workers. From the remaining
profit he spent 10% towards his shop rent and 40% towards his family expenses. He then saved the balance
amount of Rs.50,000 in a bank. Then the total amount he spent towards wages and rent is (in Rupees) :

W EOSERTTD 2.8 DY 06 ©SB SAYS eresoss® 20% D 56 e HITOS i) Se5TVE sy

B, 072506 ADS ST 10 TR 50 erehiih SrBosn 40 el el Henozd PENOD P

IENPECE. &8 SHares ROS 50,000 Brarohed argols® drehd Sarth. wond @ Sdarey,
0805 2 IS Swedo APy (Brarahed®) :

(1) 25,000 @ 35000 (3) 40,000 (4) 75,000
If x,y,zare any three non-zero real numbers such that x —FE = 31*}'4 *-?:1 = x* and :;'4 -x*= J—‘Zlhﬂn

-1 ~1 -1
{xz +l] +{}*1+1] +(33+1) =
o T R R R 4 2 2

Y ETLY - = % T -xt =y odbgltn &S AJar Saweeh EIGHE 5B Sosygen
—1 ~1 -1

X, ¥,z e wond, (2 +1) +(;,52+1] +[11+I} =

2.2.2 1
1) xty?; 2 ‘

( Iz},zzz 3 0 @ ]

75-32423%570 =15 of 1+(37—?+5)=

2+(3?—?+5) !‘:ﬂnﬁh 75=324+23x570+15=

@ 505 @y 1729 (3) 5041 4) 1816
A started a business by investing Rs. 5,25,000. At the end of 5" month from the commencement of the business
B joined A by investing Rs. 4,32,000 and at the end of 8%

month from start of the business joined both A
and B by investing Rs. 6,30,000. If C"' s share in the profit at the end of the year is Rs. 50,000 and A’s share is
Rs. x more than B’s share then x =

3,25,000 Srarabe BEp2EE® A 2.8 SrgroR)y Febodomeis. TFIT)) FoDoDSNE Kok 55
Srarodoss® 4,32,000 SrarchHo BenwdE® A &F B Soee SoBaty TGRS Frdozfo Sods 855 Swdroioss®

6,30,000 Sxarafhe depadS” A 00k B od® C Bovths. Sosdyorodo 880 £4508° C avéw 50,000
Seaeafien S80I A aer B Sne Sofd x Srdrahen Hfy, 38, x =

(1) 60,000 (2) 75,000 (3) 50,000 65.000

The present age of A is thrice the present age of B. 5 years ago, the age of A was square of the age of B at th‘m
time. But 10 years hence, the age of A will be twice the age of B at that time. Then the present age of A (in
years) is :

A Bt SEeS Dy B Ss), Hoes Sonnth Sarets . § Sobeore Sefo A G, Sathisy s

B St iy Sns), SgrdB S50, 590 At Moot 56 BoBET® Soges, A Ging), Scisin SRS

B G, Sa5int S0t 3¢, @00 A G, B SaDHiy (SoSored®) :
M. 9
¥

2y 2 3 1
W, @ 20 3 18 30
21532 p11Er
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‘531187

1 ini}.t'T‘:ﬁiml Fm“"i"f-‘r of inner radius 7 cm contains 6 solid spherical balls, each of radius 7 cm. If l.h e
3 :: u.c:m} I:mu,hm'. the upper lid of the container, then the volume of the empty space in the container 15
; :o.h:.e: DOEE 5o tfe) 28 IS Mg, 2,874,637 0.8, g Go o> 6 1S FseS 2080
0 @ob. OGS MHS5S e 2008 & g T, PR KYBE @08, B & S b iy
oo BB, HOB,Es0(.20.9.065) :
(1) 2156 (2) 8624 (3) 6468 4312
47. lt;’;:i';sb‘ﬁ A positive integer and n < 193. If n and 193 are coprime numbers, then the sum of all possible values
N &5 &S Jrgrolo SHBAIL n < 193, ©H%emre. n SOk 193 e REPRERS Dowzuond n Ho PHDE ©Iy
NSO AT, awedo :
(1) 18528 @ 18336 (3) 18527 (4) 6240
4. I x=\[3080+,/3080+ {3080+ . t0m, = szsz,[zm... 0 and x+y=1, then Yz zVz =
= JBCISEH 1.!‘3(13‘["5‘ \!I'3'DE£I+... low, y= 1’2[]{}1’2131]42[}[]... to @ HBASW x4+ v = z, @aNB 74/ zv‘_ =
) 64 @) 128 3) 256 @ 512
49. Let A,B,C,D represent the marks of f i 110 '
B it p marks of tour students respectively. If the average of A, B.Cis10-: B.C.Dis
3
2 @
135; C,D,Als 125; and D, A, B is llé;the.n C—-B)=
A,B,C,D SESe Sentioths Do SrEof SrdFahsemre. A, B,Co Eng, Sk 10L:
3
2
B,C,D & Ging), ;’aﬁﬁnﬂg; C,.D,A & G3E) K:ﬁémlz-;-; 000D DA B © G, ;’.:r‘ie.ullgﬁmnéﬁ
NC-B)= ’
() D+A-B-C @ 30-4-B+0)
(3) 24-D 4) D-A
30.  The divisor of 7280 among the following is :
208 aee3e5° 7280 B, Zresso :
() 119 (2) 264 3 117 @ 182
31, Chrnnul-::rgicﬂlh* arrange the ]‘n]lnwing WAars.
(A) Battle of Plassey (B) Bnlt]elﬂf Buxar
(C) The Second Camatic war (D) The First Anglo-Mysore war
85 808 afngSne EErSigons grofhodn.
(A) b oS (B) eosmyb afngdsn
(¢ g;cﬁa‘: ggress iR . : D 4;'&” D), (B), (C
(1) (A, (B).(C.(D) @ B.D.C.A G) ©.H.B.O) & D).B). O
-'“"-.._________ 1 IIRNiE
=% LTI
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52. Identify the State where port is located state and match the following

Group-1 Group-11
(Port) (State)
(@)  Pradeep Port Authority i)  Gujarat
(b) Deen Dayal Port (i)  Kolkata
(c)  Jawahar Lal Nehru Port (i) TamilNadu
(d)  Shyam Prasad Mukharjee Port (iv)  Maharashtra
() Kamarajar Port Limited (V)  Odisha
265 03 DO seBorm asd &) TP BEBES0A,
t5-1 oS-
(8s¢5 S2yy) (ovg90)
(@) BOS HE eogroed (i)  thaoes
(®) &S Sased 2 (iiy SEger
©) 255Beord Igar 255 (i)  eSDodard
(d) Ay BAE Sopf 26 (iv)  Sessorgy
(&) sedoorab 55 OEE vy zdip
(@) M) () @@ (e
1y Gy Gy G o Gv)
(2) Gy Gy Gv M) (v}

3 W @O G v

(iii)
o @ Gv G Gil)

53, Which Moghul Emperor made Portuguese rulers angry by welcoming the English Captain Hawkins 7

(1)  Muhial-Din Muhammad (2)  Jalal-Uddin Muhammad Akbar
(3) Muhammad bin Tughlag lj} Mirza Nur-Uddin Mohammad Salim

S Boszed orer, wofoiven (QBR) RS HBH) H Ao DO Hnfits Aree WD Sée
mdﬁ:vgdﬁ: ?

(1) SoslwcHS-B8-Bodesnd (2) woredS Indrsys EEXS

(3)  Bassesyd DS Kyb Doge SrEES Indrays $BS

i d seeds from cotton is called
54. The process of separating fibres and s . -

T P g (2) Ginning [3]#_ Weaving (4)  Knitting

HB stohHe Soods HBD HBASD Hoeseds B Dok HEHD 200D,

(1) 2y GE @ Eﬂﬁl@'ﬁ (3) 5HDoh (4) 2elch

K-21532-P11-ET 10-B
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55.

Which of the following wil|
(1) Heating only
(2) Hammering only

(3)  Dropping from height only
(4)  All of the above

&2 S08 °836° 3S5exs 305RI, 080 &5 Harard) 8% ¢kod.
(1) 38 BoHiso Sexs SesSs

(2) DS Thero Sos Sy
(B)  PSo0d 2rdn BesHasiko Ses Sresd

makes the magnelts to loosc their properties?

258

56. Whatis the theme of Nobel Prize Summit 2023 to be held in May 2023 and where will it be held ?
(1) Bio Diversity & New York City
(2)  Environmental Protection & London
(3) Truth, Trust and Hope & Washington D.C.
(4)  Disaster Management & Delhi
S I 2023 RosSefyBoes® FHS 295 JARS (RsSrSBd0) 2023 &Ko NOProsEied. s .-‘5&')3&-55 Qg
D FTrodH0 2awed SHBakn & DA D¢ DYRocseritood ?
(1) 28 SJdigo (2ad8r 258ye8) S8k BwegosmE), 23
(2)  DogSdes HOGKEn (DTS RotrsS PBES) $8a50 ©0eS
(@) efo, Sitpso 9805 ¢iyts Do (&S, &F wols ) 58050 2ohrs 3.,
(4) DD Dgsoes (Ceb Bzﬁﬁ?dmég] Hobosn GO
31.  In India, The executive power of the state shall be vested in
(1)  President (2)  Chief Minister ~ (3) Prime Minister (4) Govemor
FESBH0S® Trgo Gk, SEZIGETE @HSTTEN D56 @hS0e Goto ?
(1) oogysa ) SeagHed®  (3)  Horsed (56,5
S8, The price of one country currency in terms of other country currency is known as NE—
(1)  Transfer rate (2) Buying rate (3)  Selling rate (4)  Exchange rate
28 B4 £33 56 38 B4 L8] GES° S0 Fad VeSS esoerdh.
1) ead & @ 366 3) ey ss SroyA 656
5, Which state has started a campaign to ensure purity of milk and dairy production as “Pure for Sure™ 2
(1 Guiarat (2) Bihar (3) Telangana (4)  Rajasthan
5 w«ﬁﬁj dren HHdcky o dehe G, S IFBeSERS “Hrgh H6 Argh” oI Hardo
TBoDoos ?
0y 2 b @ Bvore (@) oS
-E,___\-____ﬁaaamﬁ ()
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62,

63.

60.  Who was the incharge of *Pargang during Shersha’s period ?
(1)  Faujdar (2)  Amil (3) Mugaddam (4) Shigdar
500" "BOGET B, wHE SB5d?
m @b @ oms ) SewsS 286
a1 Method is used 10 tlentify the larger distances like carth to other planet.
(1)  Parallax method (2) Range of lengths
(3)  Fundamental or base units 43 Nons ofthe sboue
el Aol 83 (iSve eyeoed Boesse
eDodyedis |

@) &8s sge - .
(3) 2rEDuE Fore Soes EsaTeEgrens e, g

(4) 3D ooty

Mount Merapi is an example of
(1)~ Block Mountains (2)  Velcanic Mountains
(3) Fold Mountains {4y Residual Mountains
ST HSqese £ eSS tes.
(1) o HSgeso @) enyne3%0
(3) Swdises Dgese (4) 3E3 HEgdse
‘Bonaigarh range’, known for iron ore is situated in s
(1) Bihar 2y Chhattisgarh £33 Odisha (43 Goa
|EDD oreHIHEH HDHO TrodS ‘Sioronind Sol 'Besrn €Sy TrHo
(1) &H5eb (2) SHSHE @) eax 4) &=
Which is an Indian initiation to promote Medical Tourism in India ?
(1)  Universal Immunisation Program
{2) Heal in India

(33 Ayushman Bharat Yojana

(4) Pradhan Mantri Swastya Suraksha Yojana

Bob D" DAL eambato NI BAHEDE &FoDS SEgESoe DA 7
(1) DSOS S 38nS o
@ ZdS S ool

3) escodmS eredd Soraais

4y Does Scod s RodEr SlovesS

K-21532-P11-ET 12-B
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65.

At which place

; : hals 1n
Maratha ruler Shambaji along with his prime minister Kavikalash arrested by the Mug
1689 ?

(I)  Raigarh (2) Rajapur (3) Bahadurgarh

0T FEHI 0003 Hogresd HrBat WAHS HEHS0B EDEL5E §.4.1689 &° Intfeven D HHISNS®
ofodaetly ?

Sangameshwar  (4)

(1) orahié

@) oarsrb @ SoliBAE ()  exkeErbE

The DNA full form is

(1)* Deoxyribonucleic Acid (2) Deoxyribonucleic Atom
(3)  Double Oxyribo Nucleic Acid (4)  Double Oxyribo Nucleic Atom
G (DNA) QA0 38 Ydo
GRS KomgaE e300 (2) &RBrEYBBE%gaE weansh
(3) cend edypes® 585 essoo 4) cend esd 8’ 552985 eoearsh

Identify the following in which Money Bill cannot be introduced

(1) House of the People only - (2)  Council of States only
(3) Both (1) and (2) (4)  None of the above

G5 SN S0 85 §o8 TIS® 28 S HIREEESD, ©8 Hes?

(1) ST EHB 008 Srggd () oresg 628 Sresiy

(3) (1) 0805 (2) Botkredo 4) 23 s=H

Identify the dancing style and match with the originated state.
Group-1 Group-II
(Dancing style) (State)

(a) Dandari (1)  Assam

(b) Chhau (i) Karnataka

(¢) Bihu (iii) Goa

(d) Yakshagana (iv) West Bengal

(e) Dekhani (v) Telangana

&2 800 ae35°Q Kyesy Draresss ed GV TPEFIOS’ 23esHE S0,
firess-1 Hre-11
(Ky&Sg DeSo) (orgi90)

(a) ¢Sotsd. (i) e’y

b)) o (i) ggrey

© 5o (i) &

d)  HErS (iv) HAD Borrds

(e) B~ “~v) Beorres
(@ (b © (@ (e

@ v G O G) i)

2 (v) (v () () (i)
By G @ (v (i)
@ v @ G (v (i)

%532 p11ET
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69. Who is known as *Father of Genetics'?

(1) Hippocrates (2) Robert Hooke

(3)  Leonardo da Vinc (4). Gregor Johann Mendel

BG TR DEETVAM Hikrdross 558 D567
(1) %3 (2) oraf

() OBl o D2y 366 B8 BrotsS

70.  In which city, Globa] Investment Conclave 23 (GIC23) is scheduled from 12 April, 2023,

(1) Ahmedabad (2)  Hyderabad (3) Pune (4) Delhi
B8 93500045 S8 23 (GIC23), 2023 S35 12 5 3£3065° FetfoesSotivd ?
(1) eodmmrers (2) eorers (3) &Hrd &

71.  Identify the Indian-origin leaders across the world.

(I) RISHI SUNAK only (2)  KAMALA HARIS only
(3)  PRAVIND JUGANAUTH only (4)  All of the above

& S08 ES° 488 Sarerend) Hidocs P00 TANHOK HBocSod .
(1) 82 Koae8 SresS (D) Soer H96S Aresdy

(3) o8 2§ Sred DB

72.  Arrange the Planets in the Solar System in the decreasing order (highest to the lowest) according ©

number of moons.
(A) Neptune (B) Mars

(C) Satum (D)  Uranus

' & $95) &

8 BgIPED o T8 Bwl), SoHe Koy wpEsem wSEirE (e oo

Lo,

(A)  3%rgS (Neptune) (B)  eoom8&red (Mars)

© D 5eo (Saturn) (D) o855 (Uranus)

B)
W O.B.ONA @ BLOWD G B)D @ @ © m}.w.t"m
I
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73. Identify the Kings and their regime in chronological order.

(A)
(B)
(©)
(D)
(E)

(1)

Kalinga war by Ashoka resulted more than 1,00,000 deaths

Chandra Gupta Mauryas ruling

Jalaluddin Muhammad Akbar started as cmplf:rur at the age of 13 years

Sri Krishnadevaraya captures fortresses Udayagiri, Kondavelli and Kondavidu
Shivaji captured Torna fort at the age of 16 years

(C), (D), (A), (B), (E) (2)  (B)(A) (C). (D), (E)

@ (B}, (A), (), (C), (E) (4) None of the above

oreredy 50050 08 Do w8 §0s” HBoded.

(A)

(B)

(&)

(D)

(E)

(1)

(3)

M. The components of Balance Of Payment (BOP) account are

(1)
(3)

rgBS) 6 535065 (BOP) G30E), 2°TeN

(1)

(3

3%k 230D €00t asngio, OFED PO TETL) £5%\Sdso.

Sotithd) SFdoge OP2gaTR.

22emenBS Sndryd o6 13 Sosdore SahHinS® SE5Gme o,
8% BdorodHen wegoe eEabid, E050 S005 s See egdoe.
2528 16 5 D> STomy EeriSy IS DEHE Sto.

(C), (D), (A). (B), (E) (2) (B), (A), (C), (D), (E)

(B), (A), (D), (C), (E) @ 3D

Current account only (2) Capital account only

Both (1) & (2) (4) None of the above

2) Sreis grae Srgd
@) 3D

0081 8T 35° .@3-"
(1) $o808» (2) Bots™

K-21532-p11-ET
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o | | dentify the persons who worke Chief of

/
W The process of combination of two o

1.

8.

Airforce staff who belongs Telangana State,
(1)  Air Chief Marshal Idris Hasan Latif
(2} Air Chief Marshal Lakshman
(3)  Air Chief Marshal Pratap Chandra 1]
(4)  Air Chief Marshal Vivek Ram Choudar
758 TPOWRS WS WS (D8 &8 o
(1) dowb S WSS 988 G QLR
) dowb HE S oG85 s §3
(3) donb S A ey ot ewes

Jowd HG eSS DI 5, N{Ali

Madhay Katre

Q0BG ) 10 59 H25% Bevormes 3989 thBocSod

_ | [ more different companies into 3 sin
companies lose their 1dentit

. gle company in which both the
Y 18 known as

(1y Merging TAmai gamation

(3)  Takeover (4)  Joint Venture

Gotd 306 Kozsdeyy $OR 28 o2 Eraroddto Rod $300 S0y €034 Gotad S0en arel g2)an

Y E S\, SRR WO .

(1) S0 (Merging) @ ﬁ&éﬂﬁa (Amal gamation)

(3) g0 (Takeover)

(4) GRAYG g%8o (Joint Venture)

Whatiis the title of Indian Health Ministry 9
(1) Ministry of health and child welfare
(2)  Ministry of health and family welfare
(3)  Ministry of home and family welfare
4)  Ministry of home and child welfare

&8 808 83 oylies Hﬁiﬁﬁg MNoBele g R, 318 Hitvy 8050,
(1) DAY 6D 3G o 3E I8\
@) 0y o5 G w0k drgd 36
(3) DoAY &P S wol argdnd 3B\
@) IY w8 D wob 39 3B\

As per the constitution of India, how many Members of Parliament (MPs) me

Mb'HShiils are allotted for [ndian
Parliament ? -

(1) 352 @) 34 ) G) i29 ) None of the above
6 Tagotfo 5o Bndo Y 6 85 e NSO g TOBol Eewanoisio
230008 7

Ans-1or 4
@ Q) 5 ®) 529

RERER)

16-B S s
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79.

Match the following Ministry’s with their Schemes:
Group-I Group-II
(Ministry) (Schemes) ]
(a)  Ministry of MSME (i)  The Pradhan Mantri Gram Sadak Yojana (PMGSY)
(b)  Ministry of Tribal Affairs—— = i) Atma Nirbhar Bharat
(¢)  Ministry of Rural Development,~ (i1i) Khadi Gramodyog Vikas Yojana (KGVY)

(d)  Ministry of Finance Yojana iv) POSHAN Abhiyaan
(¢)  Ministry of Women and Child Developmen¥{v)  Pradhan Mantri Jan Dhan

SoBes TS T8 Hfseed BSHGE.

58-I ra-11

(0085 Aegren) (Dseen)
(@) g DY) & Sogig SGHF HBF oGBS () Dord vod) o HeEEE Breassd
(b) 276 $a0esg0 G928 DBy (i)  eef DG oS
€  TRTHHD SoBeg F (i) POTIrSgh IR Brresd
(d) e8¢ SoBess 7oy (iv) D%Qe5 (POSHAN) e0daswS
(e) & 080N B DS DooBesg TR (V) DS 008 25688

(@) (b) (¢c) (d) (e)
() Gi) v G @ (v
@) Gi) (i) v G (v
@ dGi) ) @) (v (v
@ i) (v @ () (i)

80.  Which one of the following statements about Allauddin Khilji military reforms is not correct 7
(1) Soldiers were directly recruited by the Ariz-i-mamalik
(2)  Introduced ‘dagh’ (branding of horses) and *Chehra’ (descriptive role of soldiers)
(3) A scparate and permanent army for the defense of the north-west frontier.
(4)  Created a separate army for the expansion of his kingdom towards South India.
53 $00 H5SS200S° 0gradS HH Bns), PR Hoid) BeasweH Ho2oBod B8 s9I6 N8 ?
() ©88-2-8drdE mgor ADD Hesgorr AoHMocseBaetD.
(@) fhogred Sngds Sahdo(mrh) Hdakn PIDe BuY, IStres B0 HPLSH (Bio) D34
DD 3OO, -
@D a°ohHisg &roes (North-west) S5eaH HBEIS gl DS Jeod ATHAocsB.,
(4)  58en gOeEtTo S &S vrargl) DYBoSEAZ HAFERS DGR okt Scsitso 238008,
1. Tropic of cancer passes through States.
“ir Odisha & Bihar (2)  Bihar & Uttar Pradesh
(3) Maharashtra & Goa (4)  Manipur & Chhattisgarh
6.6 B Oor9e (hote SgoeHRB
() &dap & D50 2) D56 & &ests H35
(¥ | T
3)  Sroogy & e85 & $BJG
‘~..___________

k21532 P17 6T 17-B LTI
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82,  Maich the following items in Group

-1 with Group -I1.

Group-I Group-II

(a) Sedimentary rocks £i) These rocks are formed when molten lava coolg dowp and
become solid

(b) Metamorphic rocks. A1)  These rocks are formed by lithification process

(c)  Igneous rocks_ -(ii1) These rocks are formed under the action of Pressure, volup,
and temperature (PVT) changes

(d)  Extrusive rockss ~(iv) These rocks are formed when magma cools and solidifje

82 206 ee8e5® Hph -1 evomrey & DAEZeiS G55-11 vomeer Dolyterest 23 Nod,

1 | H5.11

(@) AIoerd o=Ey (i) =803 ez SRS dforge & OrEl) heEaray,

(b) a.;e.:vz':.:rnaﬁ =By (i)  Ber Hesseew (lithification process) DAy RO oray
2o

(c) ‘E‘F&ﬂﬂhfh =i 5 (iii) 2.8 (pressure), H8AMeaSay (volume), Es251es (temperature)
PVT D050 WErSarre S oeehy bﬂi&d@m}

(d)  DEyeswd S =5 (iv)

(@) (b) (o)
() Giiy  (vy @)
2y  (iv) G (i)

(i) (i (v
4y Gvy @ (D

(i)
(iii)

B doren Sewd 65el Hetero T80 S orilyy dyderon

83.  Which of the following state in India wen UN-Habitat, World Habitar Awards 2023 for JAGA Mission
programme 7
(1Y Odisha (2) Telangana (3)  Tamil Nadu (4)  Punjab
2023 & DoBHOBNS® 2 5SB SR D oofIo "2 MRS’ JAGA Mission) ©¢5go UN-sedes, 35
SO earEds Henchod ?
@ BoCsay® (2) SBearres (3) &SDodfgrmeds (4): Doerd
84. The Stock Market Index of Indian Stock Market is known as =
(1) Bremt (2) Sensex (3) NASDAQ (4) None of the b
25 o8 58),65 B, “rrHersso €0 erotys.
(1) BosS @ 3% (3) ~2rE (NASDAQ) 4) pISTH
85.

(1)  Mumbai

DRDO £ Somsebons Sesk 2D ©ol Ssmyerel Dowsh

(1) SABOEITON

K-21532-P11-ET

(2)

(2)

Kolkata

&%) oo

DRDO Associated Laser Science and Technology Centre is located at

(3) Delhi (4)  Chennai

5% o,

@) a8 @ 33y
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86.

87.

88.

Identify the plays written by Harshavardhana.

(1} Harshacharitra, Charudatta and Naganandam
(2)  Priyadarshika, Ratnavali and Naganandam
(3)  Priyadarshika, Ratnavali and Shakuntala

(4) Kadambari, Shakuntala and Ratnavali

TS8R Dofoshn Bahards oregsneid MHodhdn.
(1) S8c50e8, crmtueses Sobakn TPrRSosai

@ LOHEEE, SEmyso HBas TSN

3) DODGHE, 58NS 5805 ot

(4) seGoabd, FHode Sy SEHP

The chemical name of Baking Soda is .
(1) Sodium Chloride (2)  Sodium Hydrochloride
(3) Sodium Hydrogen Carbonate (47  Sodium Carbonate

2380h A B, BAPCHS T

(1) éado 585 2) RBaSo EEDE
@) #acHoTES EYIS (4) RSGobo 8IS

Who introduced “Nauroz’” festival in the court of Delhi sultanate ?
(1) Itutmish (2) Balban
% Allauddin Khilji (4) Ghiyasuddin Tughlaq
§ eridon (o5 &° Fne)Tnise A0 FE%E8 HochitiSs HIFHES Koerdo HBKH?

() =gl @ =8
(3) eograds P 4)  BOSRBS s

Identify the statements which are correct from the following statements,
(A)  Animals eat other dead animals are called as scavengers.

(B) Bacteria, fungi and earthworms are known as waste decomposers.
(C) Bacteria in human body is always harmful,

(D)  Without decomposers and scavengers the dead animals and plants will not be cleaned in
the nature

& 808 ore3e® KBS HSeSareds thHBotSod.

(4) SRS 2odhHos BT Rl sohHoss 9, Ioasby wotwh,
B)  Xorg,8smen, 3Dogren SBokn avdarsnens dggre HBEarow.
©) S8 #665065° Burg e 560 EDHJron.

D)  dgoanshy SBoy FYSBosby BEHONIGS SAVNS eoehiHen DB Hygee e SHO
H0HzforT e0tse. |

1) (), (B) & (C) Only (S&) @) (A B) & (D) Only (Sregd)
D ®.emonyErgd) @ A.G.L.O&D)

"\\_“-__ .

K3

1
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1. In which year, the Simon Commission Was appointed and who appointed it ?
(1) 1926 and US Government (2) 1927 and British Government
(3) 1928 and French Government (4) 1929 and Dutch Government
DD EMWHRES & R0oRe50e5° K80t O o Baeis 2
() 1926 580 050,08, gapesasin @ 1927 59805 s, HEOB5
(3) 1928 %8080 20 Lahesgsn @) 1929 598080 &5 DaHeetn
92. Match the following Chola rulers with their titles,
Group-I Group-II
(Rulers) (Titles)
(@)  Vijayalaya (i)  Rajakesari
(b)  Parantaka (1)  Madurai konda
(¢)  Sundara Chola Aralamouli (i) Kadaram gonda
(d) Rajendra Chola (iv) Raja Raja
58 S0 Y orererss o8 Derehers® 2355w,
o5-1 tiol-1I
(Trarew) (DBsthren)
@  dwoSreos . ——(i) oruE%8
(b)  Hovoess . (i) 06503 8%
€)  RootssSte e i) St Foes
(d) o&og “)in] ores orgs
@ (b (o (d)
O ® -6 gy (iif)
DG G gy (iif)
B O G (i) (v
(4) (i) (iv) (i) (iii)
h---'_—'-—-——_______
K-21532.p4 1-ET o

g0, Which of the following is not a measure of Internal Sccurity of India?
(1) Preventing illegal activities in the country

(2)  Development of strong mechanism (o fight
(3).  Effective implementation of law against co

(4)  Protecting Indian citizens residing outside the country
& Sold e365° erses s DOSEE LS5 Koz

(1) Bo8° 5ty DMts SSgemaerssy i
(2) D26 Jorerh SgB8Lom VT8
(©) ©238 asmess R0230800% Sewe
@) e G0 38 Brerst J°0 8%ea

against cybercrimes
rruption

AN

Eﬁoga"mé@;& ng&'ﬁm
W) ﬁ;&:.ga’mﬁum :0en HSo
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93, Earth’s core is also known as .
(1) Lithosphere (2) Hydrosphere

(3) Mesosphere (4) Barysphere
255 @088 & eforr Kees otrdd

(1) Reradbeso (2) e3emSteso
(3) RS wStea0 23°0° 56g30

94,  How many chromosome pairs are there in a human cell?
H3555 Seaoe5® ) E'BreSTh0 23efen eazyon?

1 3 @ 13 @ 23 4 33

95. Plaster of Paris (PoP) is prepared by heating which one of the following mineral at a temperature of 100°C ?

&3 §08 220 AN 100°C &Pt S& Safcio trgoe P00 @s) 68 (PoP) 5085t Sa52)t5re08?

@ CaSO:2H:0 (2) CaSOs2H;0 (3) CaSO2H:0 (4 CaSOH:0

96, Match the following

Group-I Group-II
(Inscriptions) (Period)
(a)  The Poona plates (i)  Guptas

(b)  Mandasor Inscription (i)  Vakatakas
(¢)  Ayyavole Inscri ption (i1i)) Kharavela
(d)  Hathigumpha Inscription (iv) Chalukyas

&3 308 T BSBGS5HSw.
{8 -1 H5o5 11
(BBS58wen) (SPer5)
@ Grae e i) e

()  BootsdtE F5:558m (i) esreaHen

(c) wahgSen FOSSEL (i)  grSSencs

)  SBHod TH550 (iv)  orehHgen
(@ (b) (¢ (d)

Gy Gv Gi) @)

@ (1) @) (iv) (i)

B G o6 v i)

: M i) @) (i)

~ 41532.pq1 -ET 21-B l]lﬂlﬂlﬂllﬂ
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f { [ mSt WI“.I:I] RESE' Ve Eﬂ"k ﬂ'l ]"diﬂ [ItB[} LE'"'d‘i "IE"'EF "D Utllﬁ] CEII'I‘I[I'EEI'E:.IE.} banks

?fmﬁnmmst (ROI)
(3) Credit rate

(2) Reporate

823bg g0 &) modafe (RBI) %ests soed g
3 d
) 56 e 280
:3J 846 365 @ 23D ==

98.  The object of depreciation in economics is to

05 59906° SHH S R, &g4g0
(1) (&50d5” &0BS erafo Srdocseo
@D 5 erary B8 0e5¢s0 @) 23D s
99. ‘Bison’ National park is situated in
(1Y Madhya Pradesh (2) Tripura (3) West Bengal
‘B "ardiag D5gared BotiEes Socso SOEVHG T°90
() Sogsg B85 @
dﬁntif}' the Governors of states and match
Group-I Group-II
(Governors) (States)
(@) 8. Abdul Najeer Maharashtra
(b)  Shri Ramesh bais Andhra Pradesh
(¢)  Anandiben Patel Kerala
(d)  Arif Mohammad Khan Tripura
(¢)  Shri Satyadey Narain Arya Uttar pradesh
T8 SEB5 578 @0 T°290 esgrore 2EBGd,
K581 i1
GELYS) (©°5390)
@) 8. wand 585 D075
(b) B&35 80 &0 HAB
©)  @%0:888 B35 Lol
@) @85 Sy s 8
© 83588 srorages esisg &b $BT
(@ (b) (c)
MG 6y g (iv) (v)
@) Giiy gy ™ Gy
(3)

(i) (i)
(i) (i)

V) (i (iv)

(¥ Show the previous profit
(3)» Calculate net profit

G) ()

(2) Reduce tax
(4)  None of the above

@) 5% (er8y) shouscso

(4)  None of the above

2ePoEH Bl $& Senido

18 knowy,

() B35 Borrs

_ ol

(4)  Manipur

@) Soedhrb

them with the states of their ruling accordingly,

22-.8
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101. The iron pipes we use in our homes to carry water arc galvanized with to prevent rusting.

>

{I } Carbon {1} Helium {3} Zinc {4} Mﬂgnﬂﬁium
QS BBHo E6H 5% qeHe® GH@E,RS 2D Pen ghislyy HeyHor & Gyds Srabd
(TPeg3eS J&sotrromn .
(1) s8S 2) Sr&cSHo @) =08 @)  Dhkoso
102) Who discovered the First rock paintings in India at Sohagighat in 1867-637
(1) V.S. Wakankar (2)  Archibold Carlleyle
(3) H.D. Sankalia (4 Arun Sonakia

ePESBHoER LAHrS Jrodfhins® §4.1867-68 DoShTRns® SnhBndts ord DT DD
L8 7

(1) DS arsosh @) easE=ps
(3) Ih.&. SosedHodh (4 esthel Arrdoh

103. Which one of the following statement is not correct about Rigveda ?
(1) Rigveda covering 1028 hymns, 10,560 mantras and 74,000 words.
(2 The geographical knowledge of the Rigvedic Aryans does not seen to have extended beyond the Yamuna
River.
(3) Many hymns in Rigveda addressed to Shiva
(4)  Sabha, Samiti and Vidata, the tribal assemblies were existed and controlled the powers of the kings.
&3 208 HHS5B BN 220798 Ho2ofod) HB5°IB DO ?

(1)  =2afigesoss® 1028 g“sueu 10,560 sogren sSoB8asn 74,000 Heskwen o0,

(2)  20iges esthie B, 256 HOgrSe b $6 SEH Sresd &)t (5050:58.

() ewisssn 2Sh §snes 250 180D HFDodToD,

@) 525, 3B Ho805H g 5 HBesS B (oDew) 2:05¢5 SPe10¢5® Tresve B, HsEEues:
gg:})a:ﬂe.ﬂeiﬁ 0RO,

104, Name the first Vijayanagara ruler who bore the imperial title of Maharajadhiraja,

(1) Hari Hara (2) Bukka (3) Hari Hara II (4) Virupaksha
‘SodssorarBiores’ DEHEHD (80DH Bt DBaHHIE Trer A5G ?
) %t s 3 w, @ BolS FO L (4)  Deiang

21535
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105, The Reserve Bank of India undertakes transactions to balance any deficit in its Balance Of Payments (BOP]i

called transactions.

(1) Capital Investment (2)  Auction sale

() Official reserve sale (4) None of the above

Besbg ergos wp Yokofr BocsSwRd Sndbod® &%y G P3N 20 SohHidd B
U‘ﬁ“aiﬂﬁa} wobhy,

(1) ?33&:95&35&3»&? (2) 355?\)5
(3) ©hod 06y dS 335 5

106. Every year on which day, the Indian Army celebrates “Infantry Day
for the country and laid down their lives in the line of duty?
th
( l} 26" January (2) 15" August (3) 27" October (4) 30" December

AH 3% §%0 D8 Jobea0 PoBNotHE) Daed @ﬂbo:ﬁl?ﬁ% 28 ﬁuaﬁe’.ﬁr}ﬁﬂ gyelieh 3)5550 “Qarot &’
(SeBS¥o B27) D 82 23tivyehood ?

M %m0 @ 1esd  (Q) MeFb @) 30°Edob

" to pay homage to the soldiers who fough

107. The Rocks that contain fossils are

(1) Igneous Rocks (2)  Plutonic Rocks
(3)r Metamorphic Rocks (4)  Sedimentary Rocks
Breron) $O0 &) Fven :

(1)  efyHodh e | 2) 8 o

(3) Grarossts Feen ENERETIIN

108. Identify the wrong pair about Vardhamana Mahavira.

(1)  Siddartha — Father of Mahavira
(2) Tnshala — Mother of Mahavira
[3} Yashoda — Wife of Mahavira
(4) Jamali - Cousin of Mahavira

DB BT RH020oRokS0esHEE K857 238 thBothw.
(1) red - S B, Sod

) B - SO B, 59

(3) 0T - SSDHD B, eeg
BEPO - STEDED oot BKes
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109. Maich the following Tournaments with the related game.

Group:d Group-II
(Tournament cup) (Games)
(a)  Durand cup G) Hockey
(b)  Beighton cup Gi) Badminton
(c) Agarwal cup (iii) Polo
(d) Davis cup (iv) Football
(e) Ezracup (v) Lawn Tennis
&3 S0 €58y Motach 7e38 Hoesofioddd Ecierd eSS0k,
tiof-1 tirn-11
(856 Rs0t5 55) (4c5en)
(a) 5505 88 (i =€
by DS Ed (i) erdond
() eotforgd £ (iii) &6S°
d S5 (v) Spderd
(6) ErsD () oS EYD
@ @® © (e)
1 @ 0 (v) () (D)
@ v ) @ @
@ G) Gvw @ @) O
@ @) @ O @ (i)
110, The ballpoint pen WOrKS with the principle.
(1) Laminar flow
_ (4) None of the above
(3) Surface ten sion
()  erfoaeb HI°5°

(2 Intro molecular force

(2) @od8 H0Sre A3

@) D3 sH

_—_‘___________‘_'---
I
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, ovement and arrange them j
111. Identify the events as these happened during Indian freedom M : Chmnm :

order.

(A) Jallianwala Bagh incident , _
an National Army
(B)  Subhash Chandra Bose reached to Japan for the help of Indi

(C)  Dandi march by Mahatma Ghandhi

(D) Champaran Satyagraha by Mahatma Ghandhi

(;: :’;' E;:it :{: m:";"_'e . bfzﬂ;ﬂ‘;ﬂw were hanged in Lahore jail
S5y s o n st o S 5 50" 5528
(A)  2OaHSaer 208 HodatrS _

(B)  RoB0HS IG5 e Sitato 5550 Koarf ot &% 23S B0 8%

©)  DoL%eY o orgoe Sod by

(D) So35%ey rrofiel orogoe SodrsS Semgtiiro

(E)  rro®e orgoe 40 modas Surdiods

(F) 2508 R0b, oot $:80 KofES 0 6 Bens® 8 B35 Bogas

O ©.®),©. @ ®,) @) . (), (A), (), (C), (B), (B)
(3~ (A), (D). (B), (B), (F), (C) 4) (A),0),(C), ), (B), (E)

112. Which one of the following Indus Valley Civilization site does not have Citade]?

(1) Kalibangan (2)  Lothal (3)  Surkotada (). Chanhudaro
ot 0SS SomoBods D3y (Site) Sy (Citadel) S 5% 9

(1)  sd%oiS @) &pd @ B et 4) SHod

113. Identify the people who attended World Econ
(A) Eknath Shinde (B)
(C)  Anil Ambani
(E) Mukesh Ambanij
(G) Sanjiv Bajaj
(1) (A), (B), (O) & (F) only 2

(3)  (A), (E), (F) & (G) only . Lilth {I;J. () & (F) only
oSSR &° 2805 SioiS whs 3n.2023 8 s, aio:i (3)
C(A) 5B 03 ® 7S, ~"E88 B Kdosed-
(C) DS woerd D) @ﬁgm‘&'
(E)  &0E8 evozmd B e Tlrongy
(G) K0S 2yepes %ﬂ‘ﬂt
(D) (A), (B). (O & (F) mess, "
(B,
{E’:J (A), (E), (F) & (G) Sove5 35, Dy, (E) & ® Sretcds

@ 2 &3 e
K-21532-P11-ET [ Jaﬁﬁmso
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114. Match the fu]luwing Book Titles with their Authors

Group-1 Group-II
- i-::]l";zrs_} i (Book Title)
ndhati Ro i)  Constructive Parliamenterian
(b)  Kushwant Sin};hh\ . /{ii} Mera Desh Badal Raha Hai

()  Habib Ahmed “~(1ii) Azadi : Freedom
(d) APJ Abdul Kﬁ i“‘*‘{iv] Train to Pakistan

(e)  Atal Bihari Vajpayee.” (v}  Mera Pyara Bharat Desh

& Sob areles® RETe SSonde eprtorr ard Soiisens 23e8hthehdn.
58-I g-11
(BSonesen ) (BeSSen)

(a) eHotd o (i) 55 935 rgRooBocHo

(b) £Xgod Dok (i) shoe BF 255 8553

(©) &DE wimb (iii) es238 : Do

d) D8 wd S (iv) 89S e 3EFS

(e) eatods DHE @ on (v)  Shor argoe grid S5

(@ () (© (d (e
() (@) av) @) (v )
() —(iii) (i) @Gv) v )
(3) (i) @) v Gv) (®)
(4) (i) @(v) (v (@@ @

115. Maich the following

Group-I Group-II

(Ashoka’s Rock Inscriptions) {Places located)
(a) Dhauli (1)  Dehradun Dist, Uttarakhang
(b)  Erragudi (ii)  Junagadh Dist, Gujarat
(¢) Girnar (iii} Puri Dist, Orissa
(d) Kalsi (iv)  Kumool Dist, Andhra Pradesh
&s 808 aeRN BSHGLHD.

-1 tirs-I1

(085D OB AH5B0en) (Sowocsesd s $8450ey)
@ 30 | O S 2y, b
b)  SEHE (i) eraens 2w, thayoed
c) foxnb (i) 30 esee, 203w
@ €8 () S8rge0 der, wogsnag

(@ () (© {ﬁ‘:l
(@ G v {fu]
diiy (@vy (D {f;r_
'ﬁ@;' i) vy (@ (f!l]
@ vy (@ @i @)

K-21532-P11-ET 27-8 \
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116. Related to environment the term SMOG can be defined as
(1)  Ozone and Smoke (2)  Sound and Fog
(3)  Sound and Ozone (4) Smoke and Fog
~
DOGSHEETRE Ho230808) SMOG @y Hoedd LSS0
(1) &S Sockn a5 (2) Zro& Hb0s0 ah
(3)  Rrof Sr80%w 555 A5 5005 arh
2N .
117. Name of Bahamani ruler, whose death anniversary (URS) is celebrated every year by the Hindus as well as
Muslims of Bidar town.
(1) Firoz Shah (2) Muhammad Shah I
(3) Ahmad Shah wali (4) Humayun
D HVHD ooz B, 5Pod, HEE H BodS rochihen HBad SwdSen €O ‘ay
23thHpEHottH 7
(1) 2883y (2) D Hodebyd p
@ Lesus p 5O @)  HOEPCHPS
118. The new name given to Delhi Rajpath (King’s way) is -
(1¥ Janpath (2) Kartavyapath (3) Veerpath (4)  Vrikshpath
&H S ordh B, 5 18]
(1) 238558 @ Eg5g08 (3) s @ %\6
119. NILP was launched by Government of India in March 2023. What is the full form of NILP ?

(1) Northeast Independent Living Program
(2), New India Literacy Program
(3) Northern Ireland Labour Party

(4) Nestle’s Internship Leap Program

NILP e0:5%6 2023 SoSefyBo S5m0y 30S° o158 $abe830 FrsoDodis Hesso
(1) ~b D BolRoRots HAoh Hfgro
@ 555 Moosr OLED o

(3) 85 ogro& Baxb 2§

4) 3P wotd) OO Frro

B 8 Grdo HE?

K-21532-P11-ET 28-RB _/,ml
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@

Which of the following is not an Artificial Intelligence based Chatbot?

(1) MobileMonkey  (2) Netomi (3) ChatGPT (4) Wireshark
& $oB e D6 B DG DH SoerofodS wre5erd st ?
() SoBSs0eE (2) 36 3)  aoluhe 36r8

121. Identify the wrong pair.

(1)  Madras Native Association - Gajula Laxminarasu Chetti
E;}' Indian Association - Surendranath Benerjee

(3) East India Association - Dadabhai Naoroji

(4) Bombay Presidency Association - Bala Gangadhar Tilak
FBsPRSenS0ed 23¢8:5 (DBochdn.

(1)  Sogrd 38D 0RRDEHHS - oere oS80 38

(2) DoASHS RHEHRS - XoboGard B5§

(3) &R Wodasr oS0 - oo S50
20 HHBY ARHDRS - erotiorrsh @l

122. Which among the following substance is expected to have the highest ignition temperature ?
(1)  Alcohol (2) Coal (3)  Kerosene (4)

Petrol
=t Eﬂ& aoedeS® o ﬁﬁ‘gﬂﬁc @égﬂg Eﬂﬁﬂ"ﬁ ﬂﬁsﬁﬂﬁi S5O0 exotnotsD Sodiae Emﬂﬁ o
qﬂ Identify the country which does not have an Indian Embassy.,
(1) Somalia (2) Pakistan (3)  China @ B
&3 8oy Toe3S° O B#osS® g oroderd seovgedho Seh ? angladesh
@ oo () DS @ g
@ oomasg
124, Which of the following nutrients are not contained in milk 9
(1) Calcium (2) Fat (3)  Fibre
& 308 Tee3e5° O AsPen Srees® eotiid? @ Protein
(1) s@cho @ RS 3 b

K-21532-P11-ET



8923917
Oval

8923917
Oval

8923917
Oval

9031246
Oval

9031246
Oval


125. Match the following :

126.

127.

Group-I

Group-II

(Texts) (Authors)
(a) Brahatkathamanjari (i)  Sarvavarman
(b)  Kathasaritsagara (i) Kshemendra
(c)  Brahatkatha (iii) Somadeva
(d} Katantra (iv) Gunadhya
&3 808 7D 2388585050,

ErS-1 o511

(HothaSasen ) (BcSondfen)
(@) 2nSeSEmetioss (i)  H5S5HS
(b)  SErdderysy (i) Focs
() ey (iii) A%5HES
(d) srelogs (iv)  therggd

(@ () © (@
(@ G G (v
(2) G G) (iv) (i)
(3)  (iv) Gi)) Gi) ()

() Gii) (v ()

Under.which article in constitution of India, District Judges are appointed ?

(1) 243 (2) 233 (3) 320 (4) None of the above
g5 orarrgotio 550 & @BES (D230655) g Ber ArgairHS e DoHMoBeEeErs) ?
(1) 243 @ 233 3) 320 @) 23D

Which one of the following is the correct description of AGNI Missile, which is developed by Defence
Research and Development Organisation (DRDO) ?

(1)  Short range missile (2)  Fastest missile
(3) Long range missile (4)  None of the above
(DRDO) trgoe efaird woheag ef) (AGNI) §ed tHBod OGS BBS DG 7

(1)  Kgeyy ded §5¢e3 (Short range missile) (2)  StiS0esFZois &5eB (Fastest missile)

@ otiets §35e3 (Long range missile)  (4) 23D 7% (None of the above)

128. At the time of electrical short circuit, the current in the circuit

(1) Reduces substantially (2) Does not change
(3) Increases heavily (4)  Vary continuously
de39ES A HEgeS BoahHod® $ErgBS* (Secko) 306
(1) eadafrorr eftheodd (2)  Srde
(®) erbmatoieod () Dosto Srthrek esoersory
K-21532-P11-ET 30-B s
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129. Which of the fﬂllnwing sport is related to the player by name Satyawarth Kadiyan?

(1)~ Kabaddi (2) Boxing (3) Cricket (4) Wrestling
DEBFIR SEOHS @0 estarmets 88 808 o355 D astres BozsoBodsS SE?

() Seg 2) =&k (3) 836 3ggoh

130. - Which of the following material is used for dental fillings that is an alloy of mercury?

(y Amalgam (2)  Solder

(3) Bronze (4) "Brass

&2 808 s7636° Ho35%R Bogrerss DodEIS G 8D DFio DB?
@ EE&F?& (Amalgam) (2) eéxofo s (Solder)

(3) Zocs (Bronze) 4) =ud& (Brass)

: ;o . ; bel
131.) Who among the following received the 2023 International Prize in Statistics that 1s equivalent to the No

Prize in Statistics in the year 2023 ?

(1) Calyampudi Radhakrishna Rao (2) Nan Laird

(3) Neena Gupta (4) Bradley Efron _ o
82 308 TOS° FBS HEIYTVS SEPSS osgrdad Hemosee BTG (International Prize In

Statistics) 2023 Hoefyoes® &0l &0 B0l .
() Sosoira owgg o 2) S8
(3)  Qaethar @) G IPS

132.) Which of the following statements is not correct about Buddhism ?
(13 Buddhist birth stories called jatakas, which form part of ﬂl?hidamma Pitaka.
(2)  According to Buddhist jatakas, the Buddhfi was lfmrn 551 times.
(3) The early Buddhist literature was written mn _‘F‘alt’ language.
(4) Vinaya pitaka deals with the rules of Buddhist sangha.

&3 S0 aeedest B‘tgr SyarDd Hoobon H05EnSE) HBSSHn 5a7

(1) zaa{g.)é'd QEVEDH AozroBoS eredd Hiien eddday DSt oD S LA 00,
@ &% wress S0 $°Bo e 551 At 23NOB0,

3) & TG IArsgn ‘Y 23S robeadaron.

@) D5aH HEssw, F'E Do DoHETSPS BBy,

133. Which of the following Policies has been approved by Union Government of Iy

dia that aimg
ment’ to
country’s Space Department's role ? boost the

(1) National Science Policy 2023 (2)  Indian Space Policy 2023

(3) National Security Policy 2023 (4)  Indian Social Policy 2073

aiSes HeHesgo T8O esBrBoseatedd hlﬂm‘éi‘in wod0E DTS ey & §Em§hﬂ .:,,
1) 3656 5 Srerdy 2023 @ Enénﬁ:ﬁﬁbﬁ e 203 .
3)  BLse pergdes S 2023 @) RAAHS AR yvess, i

K-21532-P11-ET 31-B \
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ar district after the fall of Kakatiyas.

@ Identify the brother of Prataparudra 11 who settled in Bast

(1) Jagadcka deva (2) Annama deva

(3)  Sudharshana deva (4) Prasaditya deva

s*$A0l0e Heboe Socsthn 2056 aﬂgﬁ‘ ﬂmﬁﬁ:d&ﬁ;ﬁ.ﬁ){g Bocssd 2

(1) 2688 B85k @ o B
() KRGS BsHed @) HArOSg BHE

EDHEIEDD BEEE SE?

Name the Afghan leader who strongly supported Rana Pratap Singh in the battle of Haldighati in 1576.

135.
(1). Hasan Khan Mewati (2) Hakim Khan Sur
(3) Nusrat Shah (4) Munim Khan
£.4. 1576 5055y5065° 50583 0f0goe® ToEr HES B £ JFAHBES B TrahHen 56!
(1) 08 a5 Hawes @) 3SwSsE
(3) HogSap @) SDDH IS

136. The oath or affirmation by Indian President will be in the presence of
(1)  Out going President (2)  Prime Minister of India

(3/ Chief Justice of India (4)  Vice-President of India
grGes ToHI0B HBrea Ao DN HoS* wthithefrod?
(1)  DED B0HDS o°PHH (2) =2roes Serssied

@) @8 oo 8% ST AYOHIY (1) FES G5O

137. The exchange rate is determined by the mElkaI‘fﬂl'EES of demand and supply is known as rate.
(1)  Floating exchange rate (2) Fixed exchange rate
(3) Arbitrary exchange rate (4)  None of the above
$38),&5 #H0 B, Edrol @olk 5 egrdorr Daves SOyG 56
(1) ?&EM&& 'nle] @ :‘35 w faTe]
(3) EDHE SryE G5 4 23D s
138. Which is not a reproductive part of the plant ?
(1) Root (2)  Seeds (33" Flowers (4)  None of the above
&3 308 are36° B 08° HSKBYRE Jozoos TR (HBotSod.
= @) e @ 235 s

K-21532-P11-ET 32.B
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@ Match the follows;
ing Ki - ;
i ngs and their titles as given in Group-I and Group-II.

(Kings) Group-I1

(b)  Chandragupta-] E:i’} I;}E{'::J;z;?;;aja

(¢) Ashoka (i) Zind
(d) Rajendra Choludy G nda pir
(iv) Tanashah

e A

{53“5'1 ;}r;;iizi,‘__ (v)  Gangai konda
oy (iea>-11 &° a2y overen H80so a8 Dehen esgrBorr a3e$H6S0% -
PPed- trod-11
(oreren) (B8)

(2) 208 ToHS Hehd Ip (i) Sodvorerdores

(b) Bt SodthHed (i) B550hah

€ 3% (iii) 2ot 1B

(d) ool S0 (iv) ecmrep

(e) Botidlen (v) o] Bots

@ ® © @ @©
v @ G » G
@ Gy @ G, @ M
@ (i) @ O @
@ Gi) v @ @ O

140. Identify the importance of the Janani Suraksha Yojana (JSY), a scheme of Government of India.

(1) Reducing maternal and neo natal mortality
(2 Giving security protection to Women

(3) Giving Education to Women
men

(4) Giving employment {0 Wo |
exeises Hehesgo #0560 23358 K8Y Bvzss (JSY) @og), Swmg eddo :

@) @gH0o 2 SodEzed SQo
Q) Lo uge o6& oot
@) Lo g SR esoBoil

@) &HoHerd geyyS 9SSR
is ri wrong in ,

141. Ethics is the study of what is right of _ |

{lt'f cs:uman Conduct (2) Philosophical Conduct

(3) Moral Conduct (4) Logical Conduct

5}; QR0 @30 __— ° 5B KBNS BE S ©F T eigaHiso,

(1) S HIGD (2) &83EEES

@ e @) YL 365
o _-_--_-__________-—-'-'-_
33-B
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142, What comes in the blank place in the following letter series 7
gods BEGRAS s 3 é‘:ﬁﬁﬁ B0 griSoss” D 553200 ?
BGDF, CHEE EJGI GLI}{ KPMO, .

S 4,,51_{ FKHJ @ MROQ /m/ LQNP (4) NSPR

o T B S Ll el
143 . How many members can be nominated to Rajya Sabha by using His/Her powers of President of India ?

& DHB S RS TR GHATD Jods Hr08 YD TagRdERD Dasrgo Babiiod: ?
10 -2y 1 @ 12 4 13

@Pﬂlntmg towards a man, a woman said ‘He is the son of my father’s sister’s daughter’. How is the man related
to that women?

(1¥ nephew (2) cousin
(3) brother-in-law (4) grandson
28 PR SrDYe, 28 3, ‘08 o0 o Gk, DO @), HST G, HJ G’ 0. wand
e 8 &3 HHRD ST ed?
(1) S5 b (2) &€=a8
(3) 2ad/esien8h 4) oSt
S

[ 145. Study the following information and answer the question given below.
*A*B’ means ‘A is greater than B’
‘A#B’ means ‘A is not greater than B’
‘A%B" means ‘A is less than B’
‘ASB’ means ‘A is not less than B’
‘A@B’ means ‘A is neither greater than nor less than B,
IfFP%Q#R@SET*Uis given
then, which of the following statement need not be true,

808 BEFTOR) @:ﬁgdﬁ?ﬁu 5 4 Sols Hﬁﬁmlﬁﬁﬂ Eﬁﬁ} ﬂﬁmﬁm&a
‘A*B’ @06 ‘B 5083 A 2R’

‘A#B’ @0&] ‘B KoéS A DGO S0’ Pfiq PR =S£T>v
‘A%B’ @od3 ‘B %063 A DS’

‘ASB’ @06 ‘B £oé3 A D50 5oy’

‘A@B’ @065 ‘B %083 A DEO 55; DB seesy’
2SIEPHQH#R @SST* Uadys,

@0ons 8oHTS® DO Heigin SPSBIG Sk,

(1) S350 (2) R*P

3) Pos
K-21532-P11-ET \Q Qeu
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146.

147.

148.

149.

Choose ate
rm from the as the

al ives pi i . |
relationshi ternatives given below, which bears the same relationship with the s
ship that the first two terms bear

Sphygmomanometer : Blood pressure :: Fathometer :

1} E: :
( arthquake (2)  Electric Voltage

(33  Depth of Sea (4) Intensity of sound

005 RS Bl Bothy Hare Hugsg Derotd Hozogio GolS erotd BT Y Sancs 508" SO
DOPRY DENSTL Mok K505 0d.

A SeS’Rnesb : ggden i a6k : :

(1)  &rSodren @)  dofs S'ga

@ BB S% @) $39 o), BB

A word series is given with a missing word. Choose the correct option that will complete the series.

55209 DS o> 258 B Hed BSIASB. Fe3D Bodrgo B BOBS PINSRY docHEos.

Bag, Book, Bench, Pencil, :

(1) Class ,@ Eraser (3) Teacher (4) Student

Which one of the following diagrams best depicts the relationship between irrational numbers, integers and

rational numbers ?
208 Dgred’ 2B <ociah Bomgen, Qrgrosten Hbako es86e30h Sopge Hutig Doeotd) &refoorr

Sgipod ?
) @ @ O

P
(3) @D (4)  None of the above / (23 %)

owing Leaders of Telangana is known as “Telangana Bhagath Singh" 2

(1)  Sri Komaram Bheem () Sri Anabheri Prabhakar
na Rao (4)  Prof. Jayashankar

Who among the foll

(3) Sri Kaloji Naraya
werorred &5 Bob" (080D BN TADLHE DS ?

&a 500 08°

(1) § &snbo Do @ BEE0 Gt

I ) 4) &db aachHiesh
e —oua 35-B
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150. Identify the Ti ger Reserve Forests in Telangana State :

151.

152.

153.

(1)  Srisailam Tiger Reserve only (2) Kaval Tiger Reserve only
(3)  Amrabad Tiger Reserve only (4)  All of the above
Beorres T°go &° Heve wzicsrdergeds hiodos .

(1) 8300 Heve vZosrdeag Srgd (2)  LagS eaasrtge SrEd
(3)  eBrerd wzscsrEngo Sred 258y

Answer the following question using the symbols given below.
‘A%B" means ‘multiply A and B’
‘A{@B’ means ‘add B and A’
‘A#2" means ‘square of A’
*‘A*B’ means ‘divide A by B’.
The sum of the area of a square of side 5 units and the area of a circle of radius 5 units is
808 HH Bot5 AHGES HEHOD SOAFAD SEFGRSBY,
‘A%B’ esol] ‘A S08050-B e thedochaw’
‘A@B’ @08 ‘A 8 B D £’
‘A#2’ @063 ‘A BE), 5’
‘A*E?Eﬁaéﬁ ‘B &3 A D grhlochadw’
5 a8y Ghesin (0 S0 o, Bregsn $H00H § e S5 o Ko Alng, Frogins

Sndbo.

5H2@22%7%5H2
1y 5#2%22@7%5#2
E.’i;: 5%2@22#TH#5%2 (4) S#2@22%T*5#2
What should come in the blank place in the following series ? C 3 IS € v/
5065° D S50l ? F ug
8005 maSgRBS e3S° ard Frdo 0 't : & )
8 NM, ; 0 "
CXlJSEV,FUJIBIjS,IRE'QKF.LDIﬁ 5 8 HE r; :':!"-
(3) RU255ST 4) MQ273 LM

@) oL2s5Q) @ NK237TML

3 of the 4 alternatives given below are related in a certain way and so form a group. Find the alternative which

does not belong to that group. » 5
Sots RS et éﬁ‘g&‘h’g_ﬁffﬂﬁs HKareddd gﬁg&gﬁﬂu 2.8 K}gg mﬁu@s i oy P o

S50 2.8 Beasirore DcEaran, & HZrSTRE B0 &6;555"1055‘5& :
3 2) KMB (3) QSE OSB
(1) EGB 2) o
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154.

@ E.S.L 5800508 (2)

/155./

—

Identif :
ntify the name of the Governor who inaugurated the Kaleshwaram project in Telangana ?
(1) E.S.L. Narasimhan

(2)  Tamil Sai Soundararajan
(3) ND Tiwari

(4)  None of the above
S0 FBE o SrbossfySo SRS Boome (5 B BoiSod.

S Arow AredSoree

(3) ND &8 @ 235

8 persons E, I, N, O, Q, S, T and U are sitting one each at each side of an octagonal dining table facing the
centre of the table. I is third to the right of E and second to the left of N. U is third to the left of T and second

to the right of N. S is not between of I and N. Q is diagonally opposite to T. Then the person who is third to
the right of S is ;

(a0 esHBS WG e 220h s Gng), Sogrd8 edSwporr E, L N, 0, Q, S, T S8asy U el

§ oo gHen 28 H 288, 2o IG Lropon. 1 03 553 E § HAIHS SomeiSaredy mods

08050 N O EHZS JotbSards e ey, U o $53 T & dd0350% SamEsarey modse

005 N 8 HATDS Dot st s Sy, 1 55005 N © 5555 8 865, T8 2o Soesd Mekotorm O
I N R g e P h

(1) Q 2 U (3) 1 o ¢ %

liﬁ)Edcntify the Poet who was conferred by Padma Vibhushan Award in 1992, ~ '
(1) Dr. Andesri (2y Dr. C. Narayana Reddy . 5 "4
(3) Kaloji Narayana Rao (4) Dasarathi Krishnamacharyyly
1992 Dobeboss” HEDELRES PO Lo oth) EDD thHlosod,
(1) & ©@d3 2. = R SO aHesdS
@ S oraHEsTe) () oD Egsramige,

157. If ‘student’ is called ‘teacher’, ‘teacher is called ‘principal’, ‘bogrg’ s

e . called “ahalys .
‘table’, ‘class’ is called ‘house’. Then in this code which of the fﬂllﬂwing D];?c. Ehf-]lk , ‘bench desk i sii
; - ns a
(1)  Pnncipal teaches the lessons. 15 Wrong? ed
(2) Teachers sit on the tables.
(3) Every house has a chalk,
(4y Principal issues transfer certificates to teachers,
'rgY'D “SRprganed’ @), ‘GITIINE B sty
B%y'D Bend’ e, ‘SEAED agd’ 0 DY, 6 5%, 808 s o “Y, By ‘g
(1) SoSdrergasint ook 5B, DN ops W, ‘Bo§
(2) edrgrgoiuen Gy Srdpetrd. .

(3) 5B mot3S® a5 Gotned.
ST YEWOD SITergai 8O 582365 ong B,
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158. Which of the following is defined as the human tendency to understand and share the feelings of another?

(1) Empathy (2)  Therapy (3) Pity (4) Apathy
SEEB aeais o BREEo 5605 BoSESEo ermoth SRS HHHBD &2 o8 TS HYoiSod,
@ 02l @ (2) D3y (3) erd (4) &

159. A, B, C, D, E, F are members of a family. A is the father of F ; E is the daughter of C ; D is the husband of
B ; Cisthe wife of F ; B is the daughter of A ; Then D is related to E as :

(1) Father (2) Grandfather (3) Uncle (4)
A:B, C, D, E, F e 25€ ©en02306% HzhHgen. F &g, o A. C Bng), £5r3 E. B @), 5§ D. F Bog),
28gC. A @B, £55°8 B. @ond E 8 D & tfo) Hozotso :

Brother-in-law

(1)  &Sod @2) oo @ SO DS (4)  eeS/erSss
160. Which language was officially used during Satavahana Kings Period ?

(1)  Sansknt (2Y  Prakrit (3) Hindi (4) Telugu

BETETS Orere) S0’ o) RS @HSB%orm &HABrhodarth?

(1)  SBodyyso @ 88 (3) 2rob (@) Beothd

161. Which of the following are ideas that few people have about masculinity and femininity?
(1%  Gender Stereotypes
(2) Intellectual Ethics
(3) Morality : .
(4) Gender Sensitivity
Dyhsaedgo Sobodn évﬁsn 0802 Ebef sol HgHen SO0 aﬁn@&ieﬁﬁéﬂé} &3 800 ar83&5® tHhBoSod.

(1) OotfHERS VOIS S5mdE edayecdro (Gender Stereotypes)
(2) P38 (Intellectual Ethics)

(3) SO (Morality)
Dots 5>Dye5e8g0 (Gender Sensitivity)

162. In a class, the ratio of the students who passed in an examination to those who failed in it is 7:2. Among the
passed students, the rank of A is 23 from the top and the rank of B is 28 from the bottom. If all the students of

. f
the class appeared for the examination and the rank of B is 6 ranks below the rank of A then the number ©

students in the class is : B L
28 SEHBST, 2.8 HEES° SBHBS durghed® S 008 ﬁv-;a%‘fﬁﬁ 72, &HHBS dergHos’ eSS

S0 008 A o), Tt 23 53005 wEFSo S0 B @, 0ot 28, SEES° domgihecs® SO
552338 S0B0 A Gy, Dot Ko 6 TgothHer BHSS B orgoth GrodS, SEHBE™ orgthoe Sowg -
(1) 56 (2) 84 ® 72 4 8l
I
LI
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163. In which year Salar Jung Museum was started ?

164.

165.

166.

167.

{.1_5/9-/.With which Multi Mational Company, Telangana Gﬂ""u‘l’ﬂmant r
h (MoU) for Digital Telangana ? 18ned 5

by E’Jaéﬁgﬁuﬁe ~rerd 230f ﬁu@m& artodoeieactofy?

(1) 1948 (25 1949 3) 1950 1951

: langana
Which Sportsperson was given the “Sportsperson of the year Award” for the year 2017 by the Telang
Sports, Journalists Annual Awards Forum ?

(1} P.V. Sindhu (2) Sania Mirza (3) Mithali Raj (4) None of thﬂ“abﬂgﬂ M{).s
2017 o5 5ods” 2380 Berorres 3G y 35D T8 wTHS” Srrseiiochy/Srrseed 8 92D
5 65 BOH5 O oo ?

(1) 2.3, 3o @) adose Hge @ erd ovE (4) ID D

is/are defined as subjective responses to experiences in our living environment?
(1) Intelligence (2) Emotions (37 Cultural (4) Philosophy
B0 BIS rErtisaos D LTV (subjective) HBBy0csSente DEgirosaErow.

(1) 3O Sesen @ wSagres  (3) AoydE 4) eragses

0 _,.—@

In a certain code , ‘na ja ba’ means ‘some good people’, ‘ba sa ya’ means ‘many good men’ and ‘ra sa ia’
means ‘some bad men’. Then the code for ‘many bad people’ in this code is ~ESJ8

ma - Aoss B
2.8 DF 25 8%° ‘naga ba’ o8 ‘some good people’, *ba sa ya' @03 ‘many good men” 5380k ‘ra ca ja* ol
o

‘some bad men’. eoon@ & §%° ‘many bad people’ @ng), 5%,
(1) ranasa /(29« yara sa (3) nabaya na ra ya

If ‘EDIT” is coded as *7182322’, then in the same way ‘FILM” is codeg as -
‘EDIT’ & 7182322’ r §% &R, 08 defore ‘FILM® Bug, 8% .

(1) 21141815 @) 14151821 (3) 1518142

Choose a number from the alternatives given below, which bearg t
as the relationship that the first two terms bear.

3065 BEYYS Bwied Bocd Somge Mg deretl Soziotio &oss Seroed 5 umbe
Somgs e Sod EHE08. e RO Mg
6:15::35: 2 " & son%
(D~ 55 2) 91 (3) 143
~ ® ~

(1)  Amazon (2) Microsoft Mﬁmﬁf andy,
D wodsgrBah $ogs’ Boomes HeE% Eand Buo

Db ?

(1) coBoerd (2) DD
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170. Identify the country with the highest Gross Domestic Product (GDP) among Asian Countrics, in the year 202

171.

172.

173.

(1) India (2) China (3) Japan (4)  South Korea
2022 K0e5y80s® esosre’d Sres® odghy Sre 8305 &)@ (GDP) SO6 B2 thocSods .
(1) ersesddo @ s~ (3) @S (4) 580 E°B05
Which of the following is considered as an alternative to moral principles ?
(1)  Real Ethics (2) Logic Ethics
(3) Virtue Ethics (4) Computer Ethics
&3 §08) &35 A FBL Jrgrod Harglomohorr Htisdociadod 7
(1) Dz S AB (Real Ethics) (2) <88, A8 (Logic Ethics)
56 DB (Virtue Ethics) 4) SokiygesE & (Computer Ethics)
Match the following Organizations with the places of their Head Quarters.
(a) UNICEF | Rome
(b) ILO (International Labour Organization i) New York
iili) Geneva

(¢) FAO (Food and Agricultural Organization}

(d) WorldBank—____ — iv) Washington D.C.

&2 808 T3S BoPoy, Seé @), ST SogUirens) HETed’ i,
(a) UNICEF (i) &

(b) ILO (International Labour Organization) (i) Rorgasrh)

(¢) FAO (Food and Agricultural Organization) (iii) Bda
(d) World Bank (iv) Tn0heS &.2.

@) @-G), )i, ©-0). [@-Gv)
@ (@i (b)-Gv), (©)-Gi), (@)-6)
@) (@-(ii), b)), ©)-(iv), (-)
@ (@), (b)-Giv), ()i, ()-0)

Who was the Chairman of the Linguistic Provinces Commission ?

(1)  Shri Rajendra Prasad (2) Pandit Jawaharlal Nehru

(3)  Shri S.K. Dhar (4)  Sir John Simon

2R HOs0E Tor9e $20¢8 BAS 5E?

(1) 8 oodod Hrb (2) $HolS aarirbord IGHu
@ 8 5.3. 476 @)y 556 2rd %S

174. Every year, on which day, “Kargil Vijay Diwas” is celebrated in India ?

(1) 13% June (2 26" July (3) 13" August (4) 26" September

28 Sod¥\fo grESBHoE’ D BerS “5°9& Dascih BT S0 (Desch HEK)” BEYDoLrE ?

(1) a7S513 @ 233 26 (3) e 13 (4) RPoab 26
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175. 3 of the 4 alternative
does not belong to that group.

Sot5 BN arentss S giraires® Suvd §
52 208 H¥orGrore MEErow. Hs HRarEEDa Do) Hergsdomosely £:508% ods.
15 W=> @ 35 e'n @ 221 (4) 143

176. Py, P;, Py, Py, Ps, Ps, Py are seven different houses situated as described below.
(1) P;is6m. away from P, in the South of P,.

(i) Piis15m, away from P; in the East of P,

(if)) Pais 64/2 m, away from Py in the North-East of Ps.
(iv)  Psis 14 m. away from Ps in the East of Pa.

(v)  Pgis 6 m. away from Ps in the North of Ps.

(vi)  P7is 27 m. away from Ps in the West of Ps.

Then the shortest distance (in mits) between P; and P, is

Py, P2, Ps, Py, Ps, P, P03 ey 5}%@‘5 ‘a'ﬁ.‘g Sots DSBoS Mo B0
() Pi S SGesorm Py S0l 6 oer S560e5® Py o,

(i) P2 & &orthyy BESTP; B30 15 Q& B50S® Ps &0,

(i) P3  SoamSg00e Py 308 632 Soests (556085 P, o8,
(1v)  Pa £ &ootiyy B4S° Py 008 14 D0erlS G576065° Ps ésod.

(v)  Ps © &seftform Ps Sood 6 &mg G850 P sod.

(vi) P £ 558 B465° Ps 5008 27 Qoeolf (55065 P; o8,

©ond P; 58050 P © 353 tfer €95 6580 (oe3e®) -

@ 10 @ 5 Gro 13 @ 2
177. Match the following Slogan given by the great Indian Leaders -
Group-I Group-II
(Slogan) (Leader)
(a)  Jai jagat (i)  Dayanand Saraswat;
(b) Kar matdo (i) P.V. Narasimha Rag
(c) Vedon ki vor Lauto (iii) Binova Bhave

(d)  Desh Bachao, Desh Banao (iv)  Sardar Vallabhbhg; Patel
& 800 dormrei, @8 JB5BeDS TrabHIE 2dSEea,

51 511
{;mﬁn} (Frahhed)
(@) B eadd () GSosebels Soxea
(b) &5 S & (D) .. 56Dogoomg,
(©) 3IHLSBTE (iii) DS g3
@) B8 pos, 35S @) Sgb Spasaray ges

(@ ) (¢ (@
() i) @v) @) ®
@ G v O @
3 iy @ (v D)
@) iy @iy (iv) (@
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178. Who is the First Chief Justice of Telangana High Court ?
Sai

179.

A. Venkata Shesha

(1» TB. Radhakrishna 2
(3) CH. Praveen Kumar (4) None of the above
Boorres PETDH Z00¢5e3 Hrvd Tegosiargd foBocdot .
M) TB.owgg @) A St 3R 00
(3) CH. 65 HAr6 4) 2IDSD

3 of the 4 alternatives given below are related in a certain way and so form a group. Find the alternative whig,

does not belong to that group.

8065 @RS Trentdh Hargsmosres” Sur Hergsonaired 8 N B30’ o2t SO okt
50y 28 HBoERorT DifyEeron. & KBRS Botd By oS E508%0G.

@ Cube (30:50) (2) Parallelogram (H0est Sefodiyyao)

(3) Rhombus (Tro2R) (4) Rectangle (88 Sertido)

refer to the ability to guide others' emotions and the way they act.

180.
(1) Communication Skills (2) Cognitive Skills
(3) Technical Skills (4) Social Skills
{8 HgHeo ereStagmred oy &oH .?55;5;'5“:393 Dl SgdgiHdo 3D esogegy
enobyet.
() s55RBAS 2) SHBS S
(3) S85E 0 @) AoHS by
181. Ina certain code, ‘SMILE" is written as ‘@5*7%’, ‘DOUBT is written as ‘&3 4 g# and ‘NOTARY'is wrilte?
as ‘$3#2 A 9’, then , in the same way the word ‘REASON’ is written as :
2. D8 8%, ‘SMILE’ & ‘@5*7%’ @, ‘DOUBT" & ‘%371 8#' ed SoBay ‘NOTARY’ d 534247
wd o, @B HeSor ‘REASON’ &I SRy 7R SO FOTRERR
(1/) A%23@S$ (2) 2%3A%@ (3) A%2@$3 @ 5%2038
o
QEZ. Which of the following is related to “DHRUVA” Portal Belongs to Telangana Government?
~7 (15 Land Registration (2) Passport Verification
(3) Online Employment (4) Human Trafficking
Seorres HEHERINS HoeoofHodS “EN ”ﬂ‘gﬁ 328 Howoodod?
@ 2mine 8289901 (Land Registration)
(2) &k 25f I6HSARS (Passport Verification)
(3) &S 8BS dorowReés (Online Employment)
4)  SrisS wEs Gace (Human Trafficking) |||| ﬂ]l
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183
| \ As per the historian Jai Sheui R

"".

" i £ - El y ; ?
(1) Kotilingala amanaiah, which was the first Capital of Satavahana dynasty 11 Telangana

5088 setaehy 238 5&;1 JDlmrnmpuri (3)  Vemulawada (4) Rayapatnam
@) 8o 3 55960 Boomeas® meamirdoe e oo M6 7
(2)  SGR0 (3) JSsveaed (4) orahéne
—
;..134- \ ; :
\ ) M Hif:.r;:: ;nma'i system where men are considered superior and more powerful than women.
~ (3) Mariarcl (2)  Patriarchy
v (4)  Anarchy e
o 238 HgHHS* Yoo Lol Hthpen eHdhd SaBcfn ABSoeient® ABHedoseEEr.
(1) &%rS5ES0 (Hierarchy) @ ghvﬁar\"ﬂséago (Patriarchy)
(3) Sorydgago (Matriarchy) " (4) esordsdo (Anarchy)
185. Social awareness is a form of
(1)  Artificial Intelligence () Human Intelligence
(3)  Virtual Intelligence (4) Emotional Intelligence
2oBoeE ep S GBws), Gy ;
(1) HBD DG 2)  SrSS BEBy
(3)  SEnSS (ssreadd) 360 S BN
186. FEthics seeks to resolve questions of human by defining concepts such as good and evil, right and
wrong, virtue and vice, justice and crime. ‘
(1)  Philosophy (2)  Psychology (3) Loyalty (4) Morality
HBFFo SyoD DD, S SoBo 2.3, SR Lo8ay SO, TrgadHo SoBosH Fto eredd erddesd
DD P I . e3D 58580508 HAHERB.
(1) SSgTEo G &osgdsege O DEdahes 365
: i ident of India 7
187. Which Chief Justice of India became the acting President of InGia
(1) Justice H.J, Kania
i llah
(2) Justice Mohammad Hidayatt

3) Justice AN Ray

(4y Justl 4 50080 B
s 808 05" e esBTRE &°C 05 o8 D0oBodS rIELE EE Srgatiing N6 ?
(1) 232 3 ‘;_-;#;5 . gros®

@) =85 iy TEoEEE
(3) m&fh D.08. 3

. JFE,; el
(4) 237 i A3-B
T
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188. “BALAGAM” Movie won the ONYKO FILMS Award in March, 2023 in which of the following categories?
(1) Best Director Feature Film (2¥ Best Documentary Feature Film
(3)  Best Drama Feature Film (4) Best Dialogues Feature Film

5308, 2023 &% 2,:08° HOSy warHes® “wotic” HSEE H oS’ BT ©Dodod ?
(1) &g S0 Sosdg Jertio (2) &g Gb‘é}sﬁaué:uﬂ S deriio
@) s st sosagamte () ags somis SUSOE dardo

189. Which organization is planning to start larger floating Solar Power Plant in Telangana ?
(I) NTPC (2) BHEL (3 Adani Power (4)  None of the above
D B0 WBBEHD BHAE b H56 grod (Solar Power Plant) %5 Beorread® ardofoiood ?

@ D5.8.5.3. 2) DISadS. (3) e 5 (@) 23D D

What comes in the blank place in the number series given below ?

8005 BS5QAS Dogrg Fe3S° g oS0 D Sivod ? 22x3
fa
11. 22, 46, 90, 160,
Yooy 387 @) 295 (B) 240 (@) 330
Ty
2 -1-"%]-: ¥

191. In which year “Nethannaku Cheyutha” scheme started by Government of Telangana ?
“FeE5HE Sofures "HE5Eo Beorrea Haheigo LRgo” &) én;ﬁﬁ&ﬁ.ﬁnﬁ‘ SyeBofocserceodd ?

(1) 2015 2 2016 @) 2017 4) 2018
h-:: designed Telangana State Police Emblem (logo) ?

(1) Thota Vaikuntam (2)  Surya Prakash

(3) G. Ravinder Reddy (4) Laxman Aelay

Beorrer oo D Dimp ), ErHEY DB ?

(1) &% JHobo (2) S8y PR

(3) G.6906 34 oy @B

193. Which Wing of Indian Armed Force signed Memorandum of Understanding (MOU) with IIT Madras for
Technology development 7

(1)~ Indian Air Force (2) Indian Coast Guard

(3)  Indian Army (4) Indian Navy

ESEE Sgea B 5% S Dertisn IIT Sgrind® eSmarm wioto (MOU) AeS8S wDiHE 8§69
LHodhsren o ?

@ PGS aosn DS Q)  Zries HSng BY Bgea (5¥o

(3) &5 g0 @) s Fse St
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194,

195.

196.

197.

198,

3 of the 4 alternatives given below are related in a certain way and so form a group. Find the alternative which
does not belong to that group.

2085 Y oot JEghmsres® S Sergirmotres 2.8 D8P Srods® ool 80 &oka
e 2 Sdordrone DYE @O, H1 HBTGDL BodD DeErghmoird)y £508% 0.

(17 Bear (2) Lion @ Jackal (4) Tiger

Which of the following is the ability to look at and understand a situation or concept from an alternate point
of view?

(1) Independent Aspect (23 Social Awareness

(3) Technical training (4) Perspective

28 DOLE B &R Horgsirah Eesoss® Srendd DAY B2 §oB T73S* (H80cSod.
(1)  Xgefogs wodo @) >srssosmss

(3)  AreEBE e (4) i S0

Choose a term from the alternatives given below, which bears the same reIalimshiP with the third te
relationship that the first two terms bear. rm as the

£o¢5 S Fnosel Boch Bore Ky derotd Bozotio ol @emosd BoROTFY Sawess % Sod® $onS
B VPSP Hood E508%0d.

EOPSOLIXN : EXPLOSION : : HEARTBEAT : .

() HEERTBAAT (2) HAERTBAET £(3) HAABTREET @

HAABRTEET
In which century 1000 Pillars Temple was built by Kakatiya Kings 9
(1) 12" Century (2) 13" Century (3) 1 Century " . -
2 dergos’® Sow Poarethd s*B0H orere TUT° Ajosadoen) entury
@ DSdege @ BSIEE @ 115 s, o
45 {E‘@b

The “Padya Shasanam” which contributed to the ancient stagyq of Telygy |
£u lap

(1) Bommalamma gutta (2)  Thousang Pillars

t
(37 Phanigiri (4)  Khilla Ghanpy, *ople i
Senth zriH FrdS FFor oS8 Forse 3y MBS w5 -
b e
@ & eayeay gy (2) Song Jozme, HA e
(3) e300
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199.  Choose a term from the alternatives given below, which bears the same relationship with the fourth term as

the relationship that the first two terms bear.
£o06 RS Bwdse3 Both Hore ey werot Sookio o8 ewerot Howomrd) Tred Hied” £OA3

DY) Dsee Sod EHEYod.
HIL:0QS: ?:1KM nt @
(1) LNP @ NPR (3) LJH 4 MOQ

200. The total number of triangles in the figure given below.
Bots BgAES Herod*D Bwfo Bahere Josg,

1y 10 @) 16

(3 18 (4) None of the above / @33 Eﬁ@}

-000-

I
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